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V&N: 507
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logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00
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lin[sensitivity]
loggo = −0,35[uλ−u507]2

logga= loggo+0,00
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logVa= logVo+0,00
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logga= loggo−0,35
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adaptation
V&N: 507
ts=0.0

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2
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logga= loggo+0,00
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V&N: 507
ts=0.04

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

lin[saturation]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
 [ga/ga, Va/ga, va/ga]
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eex81−7n

eex81−5a

adaptation
V&N: 507
ts=0.04

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

uλ=(λ−550)/50

lin[sensitivity]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
 [ga, va]
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eex81−6a

saturation V
adaptation
V&N: 507
ts=0.04

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

lin[saturation]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
 [ga/ga, va/ga]
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adaptation
V&N: 507
ts=0.04

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

uλ=(λ−550)/50

lin[sensitivity]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
 [ga, Va, ]
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adaptation
V&N: 507
ts=0.04

logVo = −0,35[uλ−u557]2

logvo = −0,35[uλ−u457]2

logVa= logVo+0,00
logva= logvo+0,00

lin[saturation]
loggo = −0,35[uλ−u507]2

logga= loggo−0,35
 [ga/ga, Va/ga, ]
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TUB-test chart eex8; sensitivity 557,457,507, VNg−>V/g & N/g, lin[thresholds]=0 & 0,04
lin[sensitivity] and lin[ratio], LMS-R21=557,457,507, WN antigonisme
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see sim
ilar files of the w

hole serie: 
http://farbe.li.tu-berlin.de/eexs.htm

technical inform
ation: http://farbe.li.tu-berlin.de or http://color.li.tu-berlin.de

T
U

B
 registration: 20230801-eex8/eex8l0n1.txt /.ps

T
U

B
 m

aterial: code=
rha4ta

 application for evaluation and m
easurem

ent of display or print output


